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6 1758 JIIE #K BAF-3 11m13 +1.0
7 17162 5% 1§ BF-3 10 m 95 +1.7
8 1656 JEH H&F KK-3 10 m 58 +1.5
9 2086 Tk fHx= 4EFE-3 10 m 10 +1.2
10 1560 2@ §& #F-3 9m 41 +1.0



BF 15fiilr HiEER

JBRE Fon— G<X:1] P& 08k
1 3313 21| & IREF-1 6 m 48
2 33687 EE S ER-1 9 m 65
3 3989 RAJIGFEEE FH-1 9 m 53
4 2873 h% ®ME FEB-1 8 m 35
5 1492 |UH &t  FHE-1 6 mb57
6 2868 HHIN FE KB 6 m 44
7 3760 EXR R AIfE-1 5m 95

2886 LI = AREF-1 DNS



BF AR PR

HEIE TN - £ Al P& 0%
1 2355 fgiE BELXER ASEA-2 4 m 42
2 2361 3RO AR ABEFH-2 5m 67
3 2368 KL TK ABEF-2 5m 28
4 2377 B @HE ABEFE-2 7m 78
5 1557 N 4  #HF-3 7m74
6 1862 3L rim-2 5m 03
7 1852 ¥&fA BK BuiE-2 4 m 54
8 1577 %% MBE #F-2 5m 38
9 1661 &k MF KK-2 5m 91
10 1856 [AIE HRE F/yid-2 6 m 00
11 1799 & 3+E HF-2 7 m 48
12 1711 15 BX HBF-2 7m 28

13 2004 #LE #B3r SBLUFER-2 5m 85
14 1853 #EF —&H HyiE-2 DNS

15 235 AR fd ARBHE-2 7m73
16 1445 By B I¥F-2 8 m 21
17 1774 BB ik HF-2 8 m 33
18 2358 AlF K& AREFE-2 8mi9
19 1904 ®iJIl ZH‘HE  BIfE-3 8 m 82
20 2845 FHJIl B FEH-2 8 m 64
21 1763 B%f = HF-3 9m 10
22 1756 B4&F B3 BAF-3 DNS

23 1446 HE &KX ImEF-2 9 m 86
24 2832 BRIR B FKEB-3 10 m 84

~RXk8
B $omn— C2X: D] g SCER

1 2832 BRIR EHin F~B-3 10 m 84
2 1446 HE &KX IEF-2 9 m 86
3 1763 B = HF-3 9m 10
4 1904 @I)Il ZHRFE AIfE-3 8 m 82
5 2845 Il B FEH-2 8 m 64
6 1774 BB =k BAF-2 8 m 33
7 1445 BlF B IE-2 8 m 21
8 2358 Al K&k ARBHE-2 8m 19



BF HABR P tER
HEIE TN — & Hi g g

1 2075 % BE# FEEA-1 16 m 13
2 17714 BB =X BF-2 19 m 86
3 1799 @ 3 +BEf BF-2 18 m 02
4 2358 Al K& ABEFE-2  19m02
2658 A EFEA FER-2  DNS

6 1893 [EH & AIfE-3 20m 14
7 2860 Br4 U EEF FB-2 16 m 58
8 2861 fhx HE FKH-2 15 m 52
9 1904 HIJIl ZRIE AIfE-3 22 m 54
10 1894 &M f#&3 AlfE-3 21 m 55
11 2868 EHEAN FE FHE-1 12 m 66
12 2862 LU #0E FE-2 17 m 99
13 1763 B8 == HF-3 22 m 86
14 171115 BX HBF-2 22 m 76
15 1756 B&&8 A3 HBF-3 DNS

16 2234 BBk #h SH-3 29 m 50
17 2832 kIR &Han  FK~E-3 28 m 99
18 1658 WJIl &  KK-3 16 m 86
19 2711 [Ls &F £&EFEIL-3  25m 76

~RZk8
IBL Fon'— GX: D] Fi & SCER

2234 Bk thse =H-3 29 m 50
2832 R Han  FKRE-3 28 m 99
2711 LG &F  A5RIE-3  25m 76
1763 B&f = HF-3 22 m 86
1771 5l BX BF-2 22 m 76
1904 B7)Il ZRFE 2IfE-3 22 m 54
1894 $¥M #3  AlfE-3 21 m 55
1893 [EIM #E  AlfE-3 20m 14

OoOdO T WN —=



BF DoRNYyHORIFmEEFER
HEIE TUN— &R & 08K

1 2354 2% I AREFE-2 26 m 42
2 2357 [EFT BiE  ARBEF-2 16 m 78
3 2363 H Fhith ABEF-2 32 m 93
4 2073 thiff ffE FEEA-1  DNS
5 1661 &k MF KK-2 17m 12
6 2862 IUT #WIE FRE-2 29 m 10
7 1894 $kH fE AIfE-3 31 m 68
8 1484 FF HE FHEF-1 35 m 86
9 2860 Br4 U FEF #FB-2 25 m 85
10 2861 kit HFE FH-2 30 m 83
11 1483 & fFig THE-1 26 m 07
12 1525 fF & HE-2 29 m 61
13 2847 2 ER FKE-2 35m 92
14 1658 [WJIl E  KK-3 47 m 08
~RZXk8
IBRE Fon'— Al BilE 8%
1 1658 WJIl &  KK-3 47 m 08
2 28471 2% BE%R #HKEB-2 35 m 92
3 1484 FF HE FHEF-1 35 m 86
4 2363 Hf Fhith AEF-2 32 m 93
5 1894 ##ME &3 AlfE-3 31 m 68
6 2861 fkxt HE FKH-2 30 m 83
7 1525 F & HE-2 29 m 61
8 2862 ILT #MiE FH-2 29 m 10



